A : v C D

REV MCO DWN DATE
THE T-BOLT IS DESIGNED TO FIT THROUGH THE SLOT IN M COMMSCOPE FIAER CUIDE 1S TO BE PLACED NS 1D A 20307399 | RCR | 23-MAY-|
THE CONVERSION BRACKET AND INTO THE CHANNEL ON

B OF THE SLOTTED TABS ON THE CONVERSION BRACKET. B 8000019215 NERI 25-JAN-17
THE COMMSCOPE FIBER GUIDE. WHEN THE T-BOLT IS IN
THE CHANNEL OF THE FIBER GUIDE TURN IT CLOCKWISE AND YOU WILL HAVE TO GENTLY SQUELZE THE TOP TO
TIGHTEN THE NUT . THE FIBER GUIDE TO FIT IT INTO THE BRACKET.

12" ADC FIBER GUIDE
(SHOWN FOR REFERENCE)

CONVERSTON BRACKET A1 HORIZONTAL T

SHOWN ONLY
FOR REFERENCE.

[/4-20 % 1.00 T-BOLT
N LARGE FLAT WASHER PLRH AR
AN
l‘ LARGE LOCK WASHER
) !
[IIIIIJI!!!‘b [ /4-20 NUT
WARREN & BROWN 4X12 FITTING VINYL CAP

REFERENCE B Do
/////////////// ‘ S e 1/4-20 NUT
{ LARGE FLAT WASHER 3
7 174-20 NUT (QUICK KNOB CAN
3F USED AS PREFERENCE)

WARREN & BROWN 4X12 FITTING

REFERENCE 3
NOTES: i 12.84 REF -
| . PARTS INCLUDED WITH KIT ARE AS FOLLOW: {N ww
(1) CONVERSION BRACKET :
(3) [/4-20 HEX SCREW | (0]
(5) KNOB PLASTIC 9
(3) 1/4-20 X .00 T-BOLT 7]
(6) LARGE FLAT WASHER
(3) LARGE SPLIT LOCK WASHER
(6) 1/4-20 NUT
(3) VINYL CAP ey g
NOTE: EXTRA PARTS CAN BE [NCLUDED. L
ATTACHING THE ADAPTER TO THE WARREN & BROWN LINK: SCALE 0.350 Lﬂ 790 REF
2. MATE THE ADAPTER TO THE WARREN & BROWN COMPONENT AS SHOWN. 4
SIDES OF THE ADAPTER WILL NEED TO BE SQUEEZED [NWARD SLIGHTLY. C:A\Tfﬁ\ti<><5¢# F’ng ANC<C O 539
3. MATE THE ADAPTER TO THE COMMCOPE GUIDE WITH KNOBS AND [/4-20 T A S J TITLE ?<\T, | 2Z"WARREN ADAPTER
SREW AND NUT. CONMSCOPE NG AND WAY BE' USED ONLY FOR THE CINSTALLATION DRAWING)
ggﬁaggggE?UTigsE AUTHORIZED IN WRITING BY
" iBXP$EE QEE% %Eﬂééﬁ@i S\W% %EEEQWED. COMMSCOPE  INC. [i&F Duehes " Daless™ = Xk i O BN B
1 * | OTHERWISE SPECIFIED ANGULAR:+N/A SIZE 300001727259 REV
ENGR: FRIK FSTRADA SHT. | OF
DO NOT SCALE DRAWING . R CAIARES
A\ E% zf&; <: 2N — | DIMENSIONS IN INCHES
\r/ — | THIRD ANGLE PROJECTION




	Sheet 1
	Views
	main_view
	right_21
	new_view_25
	new_view_26



